Plumber (TE10) — Answer key

ISRO SATELLITE CENTRE
Revised Answer key of the written test for selectioto the post of
Technician —B (Plumber) held on 27-11-2016
(Advt. No. ISAC. 02:2016 — Post No : TE 10)

| Answer Key |
| SeriesA || SeriesB || SeriesC || SeriesD |
Question | Correct Question || Correct Question || Correct Question || Correct

No. Option No. Option No. Option No. Option
o+ s Jr Joc Jpr o8 Jp o |8 |
2 | 8 J 2 | 8 JJ 2 | o J| 2 [ 0o |
.3 Joc pL3 |8 J3 J A 3 | o |
L+ o~ JLe |8 J 4 [ 8 J 4 [ B |
s | oo JLs J oo Js Joc J s | 8 |
. s | & J| s | 8 |6 | 8 J| 6 | B |
o o8 Lz |8 Jp 7 o J 7 [ B |
. 8 J o J|8 | 8 JJ] 8 | 8 J| 8 | B |
Lo |8 JLe | A Jf e | 8 J 9 | c |
| o | 8 J| 20 | o || 0 J 8 J| 10 | A |
Lu Joc L | oA Jf o oA Jf 1 [ B |
L2 oA 2 | oc L |oc J| 12 | A |
Lo oA s | oA J s |8 J| 18 | ¢ |
v |8 J s | oA J] 14 | A || 14 | B |
s | oc JLs | o8 Jf s oA Jf 15 [ B |
| . | e || | 8 || . | A || 16 | A |
v oA JL v |8 J v |oc 1w | oA
.8 | oc JL = | A | 8 | 8 || 18 [ c |
L oA e | oc e |8 J| 19 | A |
L 20 | 8 J 2 | ¢ | 2 | c || 2 | c |
L2t | e |2 | 8 | 2 | o J| 2 | o |
L2 | oc JL 2 | o | 22 | 8 || 22 | B |
| 2 | o || 2 [orc || 2 | 8B || 28 | 8B |
L | 8 2 | 8 || 2 | 8 || 24 [ Borc |
s | 8 J 2 | 8 | 2 | o J| 25 | 8B |
| 2 | o || 2 | o || 2 | 8 || 26 | B8 |
L 27 Jeoc || 27 | o || 22 | 8 || 22 | c |
| 2 | 8 | 2 | 8 || 28 [Borc] | 28 | D |
L2 | 8 J 2 | ¢ |2 | o J| 2 | B |
| o | o JJ 0 | 8 JJ 30 J c || 3 | o |
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|  SeriesA || SeriesB ||| SeriesC | | SeriesD |
Question | Correct Question || Correct Question || Correct Question || Correct
No. Option No. Option No. Option No. Option
Lo Joc Js Joc Jfs Joc Jp s | o¢ |
2 J ¢ J 32 | A )| 32 | & J| 32 | 8B |
o3 Joc Jss o8 Jf ¢ J 3 | oA
L3 Joc J3 | ¢ Jl 3 || ¢ J 3 | ¢ |
L s |8 JLs o J3s ¢ J s | ¢ |
| 3 J ¢ 3 | c )| 3% | A J| 3 | c |
Lo o8 JL3¥ | 8 JJ 3 J ¢ J| 3 | B |
L 3 | 8 |3 | 8 || 3 | 8 || 3 | ¢ |
L3 Jooc Jls Joc e | oc Jf 3 | 8B |
L 4% | oA 4 | ¢ || % | & J| 4 | c |
L4 | 8 |4 | o ] 4 | 8 J| 4 | D |
| % | 8 || 4 | o || e | o || 4 | B |
L s J oo J 4 | 8 ) 4 | & J| 4 | o |
L4 oA JL s | 8 ] e | B || 4 | A |
L4 ] o8 J 4 | 8 )| s | & J| 4 | 0o |
L4 | o |4 | 8 || 4 | A || 4 | B |
Lo J oA J o | 8 )4 | o J| o | & |
L 4 | 8 |4 | A || 4 | A || 4 | B |
L 4 J o 4 | o )| 4 | & J| 4 | A |
| s J 8 Jso | A~ s | o J| so | B |
L st | 8 st | o Jf st Jcob || st | ¢ |
52 | A J 2 | 8 )| s2 | e || s2 | corp |
| s Joc Js | 8 )| s | & J| s | 8B |
| 54 | 8 |4 Jcon | s+ | & || s4 | A |
| 55 Jcod | s | ¢ s | oA J s | ¢ |
| s J o s | c )l s || ¢ J| s | B |
s oA JLs o8 Jsr ¢ J s |8 |
L s | 8 s | 8 || s8 | A || s8 | D |
s | o8 Jso | A || s | o || s | A |
| 0 J ¢ JJ e J A JJ e | e JJ e | B |

Answer given in yellow colour indicate the change in answer.
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